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Model Set

Geography (331I<l)

Time :- 3 Hours 15 minutes Full marks - 70
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Instructions for the candidates :-

1 oierreft wereia oru real H g SR < |
Candidates are required to give answers in their own words as far
as practicable.

2. el av BB w RA g ofe yuiie fifdwe avd 2 |
Figures in the right hand margin indicate full marks.

3 geAt @1 eqHyde uen @ oy 15 e a1 srfaRed waa far aam B
15 minutes of extra time has been allotted to read the questions
carefully.

a. g UE-H T wuel H ¥, Wue—3 vd Wre—d |

This question paper has two sections : Section-A and Section-B.

5, Wue—y ¥ 42 qws wed € R 9 feET 35 gl @ 9aik o B
YAF U B oy 1 i FEIRG 81 oR 35 axgfis weel W ofie @

SR fRY. O ¥, 9 UgA 35 SRl Bl Bl Al f[dhdl SR

OMR—GTR U=5itp OX U9 =AM g &l &Il /el dfel 04 § W |
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Bl I ypR & @RER /A USRS /@i /ARG 3nfe B OMR e
R YN 6] B3, A=gAT URIeT RO Mg 81T |

In Section-A, there are 42 objective type questions out of which
any 35 questions are to be answered. Each question carries 1
mark. If more than 35 objective type questions are answered, the
first 35 answers will be evaluated. Darken your selected circle on
the OMR answer sheet with black/blue pen. Do not use any type
of Whitener/Liquid material/Blade/Nail etc on the OMR sheet,
otherwise the result will be invalid.

Gus—d H 18 off IO U § (URAH U & AU 2 e FuiRa €),
fS O f=l 10 ool & SR <7 2| 398 AfaRaa, s wus ¥ 6 A
SIRIY Y3 8 (UAF & oy 5 s FuilRa &), e 9 f 3 gl &
IR & © |

In Section-B, there are 18 Short answer type questions (each
carrying 2 marks), out of which any 10 questions are to be
answered. Apart from this, there are 6 Long answer type questions

in this section (each carrying 5 marks), out of which any 3

questions are to be answered.

foxl yBR & seragiie IuS FH SR yola: afdfa 2

Use of any type of electronic appliances/devices is strictly

prohibited.



Yus—31 / Section-A

a%f1s g9 / Objective Type Questions

W1 | 42 b & UAP U & IR fdeq & i § o 981 2| aiud Rt
35 TRl & SR o & | I gRT g4 Y RPeT 3 OMR-2e ® Bifed &Y
(35x1=35)

Each question from No. 1 to 42 has four options, out of which one is correct.
You have to answer any 35 questions. Mark your selected option on the

OMR-sheet. (35x1=35)

1. I ARG YITiel BT Suerl el 87

A. ferr qara B. Wresiae e

C. = D. fafbedr e

Which is not a sub-branch of social geography?

A. Gender geography B. Cultural geography

C. Military geography D. Medical geography
2. I STEEAT gfg % aTell 9 §

A. T¥ B. sTH®

C. W+ D. &4

Country having high rate of population growth is :

A. Yemen B. Denmark

C. Spain D. Russia
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DI Uiy HRE T & ?

A. ST B. aRISTRY

C. fafecas gfaen D. 3rend grdrgRoy

Which is not a Push factor?

A. Water scarcity B. unemployment

C. Medical facility D. Disturbed environment
P SHEET BT Mg it 2

A. 0-15 B. 15—59

C. 10-35 D. 65-79

Age group of working population is:

A. 0-5 B. 15-59
C.10-35 D. 65-79

$TH 9 DI A9 f[ABRT BT vqmy 27
A [T B. sad graoiigar

C. IdrEH D. Sudad aH
Which of these is the pillar of human development?

A. Equity B. Sustainability

C. Productivity D. All of the above
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I anfefe fobareany 2
A IUR
C. 9ar

Tertiary economic activity is:

A. Trade

C. Communication

fa g9 wrafara 2

A TTgUTST A

C. ay #r°f 9

Big inch is associated with:
A. Pipeline

C. Airway

arer Raa o T
A. 19947

C. 10478

NAFTA came into existence in:

A. 1994

C. 1947

B. Hart
D. Sudaa T

B. Services

D. All of the above

B. Y& HTf <

.D. & 71t 9

B. Railway

D. Roadway

B. 2004 ¥

BRI

B. 2004

b, 2012




10.

11.

Jge ¢ AN ORAT &

A. SR TANCEH HSRATR Bl

B. qAeIITR—{2~¢ AR BIhY

C. cferor sredifed A8NNR 8ldx

D. IR Ud HERINR BIhX

The Big trunk route passes through:

A. North Atlantic ocean

B. Mediterranean sea-Indian ocean

C. South Atlantic ocean

D. North Pacific ocean

STH BT ST TR § 7
A. IR B. we
C. @R D. fUeHa

Which among these is an industrial city?

A. Varanasi B. Patna
C. Lahore D. Pittsburgh

IR H Halfre S gig o safer o
A. 1901—11 B. 1931—41

C. 1961—71 D. 1991—2001



12.

13

14.

The period of the highest growth of population in India was:

A. 1901-11 B. 1931-41

C. 1961-71 D. 1991-2001

Wﬁﬁ?WWW??

A. 3mfq B. =+

C. e D. 3ifRe®
Which linguistic family is prominent in Tamil Nadu?
A. Aryan B. Chinese

C. Dravidian D. Austric

s‘«lﬁﬁaﬁwmﬁmmﬁﬁmwé?

A Tfeed B. srg—femd
C Teellgra D. Sugaa w)

Which of these is a3 type of rural settlement?

B. Clustered B. Semi-clustered

C. Hamleted D. All of the above
TR S gdf Ra  sraRere 78 2 -

A ger B. g14r1¢g

C. Sy D. Fif¥s®




15.

16.

3L

The city not located in eastern india is:

A. Patna B. Dhanbad

C. Jamshedpur D. Nasik

T B Vb AIBI AR 2P

A. IITIRT B. ge-r
C. TsIe D. gxa
Which of these is a medieval town?

A. Agra B. Patna
C. Chandigarh D. Surat

Y ¥ B SN YR | Y B B 27°
A g B. ®ur
C. 9T D.W

Which of these is a Rabi crop in north india?

A. Wheat ‘ B. Cotton
C. Bajra D. Maize

HTHT IATEH 5T ©
A HeH B. fagr
C. snfeem | D. UoTe

| I R o= oo




18.

19.

20.

Coffee producing state is:

A. Karnataka
C. Odisha

gRA Hifd &1 Ty &
A T IAET 9§

C. WIeIr~1 IATeT A

B. Bihar

D. Punjab

B. go IcUIeT W

D. g7 & fo:fr & &

Green revolution is associated with:

A. Tea production

C. Food production

B. Milk production

D. None of these

B T8 IR gdf R ¥ 2°
A. Ry 9 B. dril o=
C. #grdT 9= D. =Er 9

Which river basin is in eastern India?

A. Indus basin B. Tapti basin
C. Mahanadi basin D. Mahi basin
N SR gTESTe U Wi §

A. B H B. sfifgem #

C. uf¥gH durer D. Suda 91 #

| oo




21.

22,

23.

Lagoons and Backwater are found in:

A. Kerala B. Odisha
C. West Bengal D. All of these

iﬂﬁﬁaﬁﬁaﬁ%—mmaﬁ%‘?
A. 91T UBTe B. Twafzar
C. fodgs Doz |

Which of these is an iron ore producing centre?

A. Badampahar B. Gurumahisani
C. Kiriburu - D. All of these
79 A B srnf @i 87

A. diarge B. diIg srrep

C. 31ys : D. dfar

Which of these is a non-metallic mineraj?

A. Bauxite B. Iron ore
C. Mica D. Copper
T 9 B dfearse @ e TEf 27

A BRYe B.

C. 9aTR D. weigR

10




24,

25.

26.

Which of these is not associated with Bauxite?

A. Koraput B.Gaya

C. Bhavanagar D. Sambalpur

IRT H 1Y S dlel el DA BT fhar ufererd el yer a1 27
A. 10 gfcrera B. 50 yfcrera
C. 80 ufcrera D. 15 Tfcrera

What is the Percentage of Bituminous type out of the total coal

found in India?

A. .10 % B. 50%

C. 80% D. 15%
QR4 e 9 &) gl § oy S 8°

A. fders B. efRfr
C. gRare D. vgarr

In which rock-system is uranium found?

A. Vindhayan B. Tertiary

C. Dharwar D. Gondwana

9 Al ISR ¥ P IR ARG § T8} 27
A. YA B. A
C. RN D. I8

11
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Which of these oil refineries is not in north india?

A. Panipat B. Mathura
C. Barauni D. Chennai

27, NIAITET WA &l e {6 e} & frave araferd 27
A. Tedr B. ®leT
C. fomra D. foefri
Near which éity is Rawatbhata atomic power centre situated?

A. Patna B. Kota
C. Manipal D. Pilani

28. s ¥er wa Bl urg dRar §
A gTETE 3 B. @=1E W
C. dler 9 D. a1 9

Bhilai steel plant gets coal from:

A. Dhanbad ‘ B. Chennai
C. Kota D. Korba

29. A Yl 9 SREMT b I57 H arqRerg 2 ?
A. Tfegy durea B. ®lcs

C. yuire D. oRIa

12



30.

31.

32.

In which state is Hubli cotton lextile mill located?

A. West Bangal B. Karnataka

C. Punjab D. Gujarat

NS BT AlFedIR dh-Td! Ul AR &
A ERER B. g1 4
C. e | D. feresr o

Software technology park of Odisha is siturted in:

A. Bhubaneshwar B. Puri

C. Cuttack D. Chilka

IR A FoidRor ga dediaror &) AT s e
A 1947 9 B. 1951 #
C. 1991 # D. 2010 ¥

The policy of Privatisation and globalisation was adopted in India

in:

A. 1947 B. 1951

C. 1991 D. 2010.

T I DI eNfire e 87

A. gfvR B. wiuTe

C. BITYR D. Suaa &+

13




33.

34.

38.

Which of these is an industrial district?

B. Purnea B. Bhopal

C. Kanpur D. All of the above
ST BT e W@E}? &

A. SR geIT H B. fagr #

C. uf¥em e o D. &va1 H

The highest density of population is in:

A. Uttar pradesh B. Bihar

¢ West Bangal D. Kerala

RS 7R —2 §:

A feeeli—smawr B. facel—adrerrar
C. gea—yfdfar | D. gea—ew

Natioan| Highway-2 is:

A. Delhi-Amritsar B. Delhi-Kolkata

C. Patna-Purnea D. Patna-Darbhanga

an‘zomﬁma%wf@asaﬁawmw;
A D B. fogr

C. 9olg D. T

14




In the year 2001, the state having the highest density of roads

was:
| A. Kerala B. Bihar
C. Punjab D. Goa

36. <R YHSA B Ty &

A A= B &I

C. dlcrdrar # | D. BrofigR ¥
The headquarters of Southern Railway Zone is in:
A. Chennai B. Hubli

C. Kolkata D. Hajipur

37. WURd H YW YTl B HET @
A 5 B. 12
C. 27 D. 186
The number of major ports in India is:

P D B. 12
e 2l D. 186

38. IR H 91y YRS &I IYHAT BS:
A 2001 ¥ B. 1911 #

. ez 4 D. 1931 ¥

15
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39.

40.

41.

Air transportation began in India in-

A. 2001 B. 1911
C. 1921 D. 1931
el gfsar fsar siRaa o s

A. 1957 ¥ B. 1936 #
C. 1911 ¥ D. 1999 #

All India Radio came into existence in-

A. 1957 B. 1936
C. 1911 D. 1999
BIABIAT G ey 78T Jv raRerg 2?7

A. HEHE B. g oAl

C. 99 D. Fdey

On which river is Kolkata port located?

A. Mahanadi B. Hugli
C. Son D. Narmada
TRT &7 fqemeran sew g9 2
A. BIS B. gfocar
C STarer a1 g% D. g
16




India’s largest container port is:

A. Kandla B. Haldia
C. Jawahar Lal Nehru D. Mumbai

42. s BIF gded TR T8l 87
A.m{ﬁ B. SeHsTH
C. AT 311g D. 3f@elva’
Which of these is not a tourist town?

A. Mussoorie B. Udagamandalam
C. Mount Abu D. Ankaleshwar

Wug—q (AR—aET%s 9¥)

Section-B (Non-Objective Type Quesitons)

e 3™ U3 (Short Answer Type Questions)

g e 1 W 18 9% oy Ay 8| fh 10 v & SRR | yAS U & fefd

2 3 FuiRa 2 | (10x2=20)

Question no. 1 to 18 are Short answer type. Answer any 10 questions. Each

question carries 2 marks. (10x2=20)

i ST el & <1 Juerdl @ AW ferhay | B

Name two sub-branches of Political geography.

17



10.

1.

S & gTed Y 3T R ST ©F

What do you mean by density of population?
HI4d fadbT & aR Wl & Ioold HIRU |
Mention four pillars of human development.
fFrate oY Fr 2?

What is subsistence farming?

3MRUE UaUH ERT S[S &5 Rl & =19 fifau |
Name two cities connected by Orient Express.
fa9q GUR AMST & MARYA BRI FT 7

What are the basic functions of World Trade Organisation?
FRGAS TR & IR IGTER0 R |

Give four examples of cultural town.

I 3N ERfd & @19 ok e HIfTY | |
Differentiate between site and situation.

S & qIiaRoiia afRomdl &) R & |

Explain the environmental consequences of human migration.

dl 9RT & TR "Rl & M faRay |
Write the names of four metropolitan cities of eastern India.
qh H a7 27

What is dry farming?

18




13.

14.
15.
16.
17.

18.

U3 AT 19 ¥ 24 dd <" I 2| Uhd U B U 5 ofd FafiRa & fhst 3

Bb W B IR Ry IRT @I fH2l Q1 TR & A iR |
Write the names of any two river basins of India situated north of

the Tropic of Cancer.

JTURURTFTA Sl Gl BT Seoldd BT | 2
Mention non-conventional sources of energy.

AT SENT a7 87 2
What is petro-chemical industry?

q0 URd & & e yewi & AW ferRau— 2

Write the names of two industrial regions of western india.

UIH Gyl AT B iy @ of) ? 2

What was the period of the first five year plan?
e ATHIL AT & a1 A 2?2 2
What are the advantages of free sky policy?

AR & IR HIEGH] BT Ioolkd BIFTT | 2

Mention four means of communication.

e 3aia 939 (Long Answer Type Questions)

o

gel & IR T | . ~ (3x5=15)

19




No. 19 to 24 are Long answer type questions. Each question carries 5

marks. Answer any 3 questions. (3x5=15)

19.

20.

21.

22.

238.

24.

froerreaTe Ud Hyddre 91 STaURT B fadeHr ST |

Discuss the concept of determinism and possibilism.

ST B BT guiF BT |
Describe dairy farming.

ARG § AN SANT B AR @ @GRy B |

Explain the distribution of sugar industry in india

FARTETY FMIR H qAT T8R DI He< B [qd==1 SIS |

Discuss the importance of panama canal in international trade.

qRd | yeiferm & Saured gd faarer &1 faaror <1 |

Give an account of the production and distribution of petroleum in

India.
YR B HHRE a3y 9T 39 R @i Ty wemnd @ gefia
I |
Draw a map of India and show the Golden Quadrilateral Highway

on it.
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